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1) 11,875:2,5 = 118,75: 25 = 4,75; 5) 6,552:7,28 = 655,2: 728 = 0,9;
2)5—4,75 = 0,25; 6) 3,24:0,9 = 32,4:9 = 3,6;

3) 0,25:0,0625 = 2500: 625 = 4; 7)4—3,6=04.

4) 7,012 — 0,46 = 6,552; Bionosiow: 0,4

3. |-3|12|=3-2=6;
4. |—3§| ~|-18/=35-18=35-18=17.

5. Poskput Mmonyis |2a — 3.

2a — 3, aKuio a =

)

3a 03HAYCHHAM MOAYJIS |2a — 3| =
3 —2a, akmo a < -.

NjwN|Ww

6. 3Haiitu HaliMeHIe 3HaueHHs Bupasy |x — 1| + [x — 2|.
Taksax |x—1]=>1; |[x—2|=2,tomy |x —1]|+|x—2]| = 3.

Haiimenie 3HaueHHS JOPIBHIOE 3.

7.33.15462:8443°=—-154+—-84+1=m4—41=24241=1;
3 6 27 36 9 9 9

8. (a+bh) (@ b= (343) =T =

a+b a b a+b ab

-3 -2
9. (0,1bc™2)73 = — —q2p~1clt. (i) b=3c6 = — (i) a’b~*c'” = —100a%b~*c?’.
10 10 10



